TS EE

FRITETER

REEODSMARE —> O 95Mm / O : BEESM

4 A 5 A 6 A 7 B 8 A 9 H
1| £ 1| A 1| K BHRE &R 1 + 1| % 1| &
2 | B 2 | K EEEIAR 2 | & RS 2 | A - vERrA=| 2 | % HRHE 2 |
3| A 3 | Kk A = 3 | = 3 | B 3 | ® 3 |\
4 | ® 4 | K HFEYDH 4 | B 4 |k 4| & 4 | B
5 | K 5 | & FELDHE 5 | A N 5 | %k WIREE 5| & 5 BFHEE &R -0&D)
6 | & 6 + 6 6 x 6 | B 6 | K YRR
7| & 1R (1185304 7 | B 7 | % RS 7 | 2 t5%FEDY 7 7 | &
8 o 8 A 8 X 8 il 8 8 &
9 =] 9 9 & 9 H 9 K 9 +
0] A AE GERRAE) 0 | % B0 / YIREE 0|+ 0 | A B (FH) 0| & 0|8
1 Fksep /1 no| *x S0 n| A 1 BAROLS-FD) | n | 2 [IT]=] n| A it
12| % ks en /M 2 | & e 1= 2| A PRER 12| K s ER 2| £ 12
13| % AR sy /NBEEE | 8 | £ 13 REHERS 13|k BiEE 13| 8 13| K SR / YIREE
“| & MEF0AEEQIBET) | 4 | 8 14|k YR “ | % BRY EROMH) “| A (FATHBIAA | K SER
5|+ 5 | A 5 | K SR 5 | + 15 [FATHBIARA 5 | & S50
6| |8 16 bt 6 | 2 4R % | & 16 | ik [FATHBRA 6 | +
17| A I—RBER / FEEAE 7| & SREE 7| x SHH 7 EDH 7| % 7|8
18 REEAMR 18 | ® 18 | | 18 18| & 18 | A HEOH
19 | %k REEHRS 9|2 9| A [RE7N 19| Kk 19|+ 19
20 | K REEAMR 20 | + 2 0 | K BEREA 20| A 0 | Kk YRR
21| & o (BB / FEAE 21 B 21 | K 21 & #wEUSAVREER || 20 | B 21 | K
2| 2 | B 2 | K TSR ILRZER || 2 | £ BAYEE &R 2| % 2 | & EEAATEER / 118530 R
8| A 2 B3| & ISrAYLREER || 8 | B B |k WIRHE B | * BRI mr oLy azin
2% | B HABEA 2% | Kk WRSEE % | + % | B 2% | K % | B
2% REREHE % | Kk % | B 2 % | & % | A LRV
% | % BBy / HIREE | % | 2 Br=R o - || 6 | A avy—t % | %k MREE % | £ %
7|k 7 |+ 27 a | & 27| A 27 | %
% | & FARREuDs 8 | A 8 | K NGB B | & %8| A gt (1 B 30 H05E B | x
2| = HEFIDH 29 | A 29 | K [EINGEA 29 | £ 2 #aRka 3
0 | H 30 0 | & EINETEN 30 B 0 | K HFHUGFE / SR 0 | £

3| Kk WREE 31 A 3| K




10 A 11 A 12 A A A A
1|8 LIS FABEIRS#AI 1 1| A 7t 1| K 1| & WagEDY
2| A FEESH+ 2 | K HES / FABERIGHEL || 2 o | BiltEks 2 | % [ RAT=HEIAA 2 | 2 TE=E 2 | +
3| % 3 | 2 pg| )= 3 | B 3 | K (FATHEIAA 3| * 3 | B
4 | K 4 | = 4 | A Rk 4 | x (FAFHEIARA 4 | B 4 | A e ER
5 | & 5 | & 5 | & 5 | & 5 5 | % B (Fr)
6 | & 6 | A 6 | X {EL AR 6 |t 6 | X 6 | Xk B (UK - )
7 | 7 | % 7 | & {ELAEER 7 B 7 | K WRZEE 7 | K
8 | H 8 | Kk YIRHE 8 | & EINT:E 8 BADA 8 | & 8 | 2 Hilhs
9 AR—yDH 9 | & S0 9 | £ 9 | % 9 | & EW s muosmron | 9 |
0| % 0 | & S45H 0| 8 0| Kk 0|+ 0|8
| sk no|x SEE/ HEERs |1 | A BEER oK B2t (1 B 30 HF5ED e EEREEDR 1| A BiE=
12| K HHEE &) 12 | & 12| % 2|2 Wwihas 12| A b= N =] 12| %
B3| & 13| A [A¥N 13| % ShiR#EE B | x 13| % P 13| K
1% | + 1% | % 1% | K 4 | B 14| K H | K HERRA
15| A 15 | K 5| & DJARIARS 5 | A 5| K 5| & FHHFE (1 8530 /03D
6| A 6 | K it 6 | + 6 | % 6| 2 e 6 | +
17| % Hrt= 17 | & BEENIR 17 |8 17 ] kK L / HIREE 17| £ —HAE @ARR) 7|8
18 | % YRHE 18 | + 18 | A B | x HEER 18| B 18| A ZFER Ok - FOHRD
19| K 9| B 9| X aRm%E 19 | & 19 LEPNFTEA 19| K &7/ 118530 5H55E
0| & R 0 | R BAROELT-ED) | 20 | iR 0 |+ 0| % BN 0 | K EH0H
7|+ 2|k R (ER 2 | %k 3EO%E 2 | A 2| K EDNEN A | %k
2 | A 2 | K BRSNS (4E) 2 | % HEEK (11 15 30 HF5ED 2 | A 2 | K 2 | &
2| B N 2B | & B patR s )= 2 | + B | K B | & REHER % | +
2% | k 2% | & a 49—k 2% | B % | Kk SE8 / HIR 2% | + 2% | B
2% | Kk SREE % | = % | A % | K e ]E| % | B %5 | A
% | & 2 ] % | % 2 & SEH % | A aHy—t % | X
7| & 27 | A IS a7 | + 27 | % 27 | Kk
28| £ 28 | & 28 | K 2 B 28 | K WRZEE 28 | K
2 | B 2 | Kk 2 | & XA THRIAA % | A 2 | x n | &
0| A 0 | & 0 |+ 0 | % 0 | x
3| % MoEER 3| B 3 |k HAERSHS I EEL 3| B




